Retirement/Death of a Partner

Question 1.

A, B and C were partners sharing profits in the ratio of 1/2, 2/5 and 1/10. Find the new ratio of the remaining partners if C

retires.
Solution:
Old Ratio (A,B and C)= l:g:ior 5S4l
2 5 10

o

Aswe cansee, no information is given as to how A& and B are acquiring C's profit share after his retirement, so the new profit sharing ratio between
A and B is calculated just by crossing out the C's share, That is, the new ratio becomes 5: 4,
= Mew Profit Ratio (A andB) =54

Question 2.

Ram, Mohan and Sohan were partners sharing profits in the ratio of 1/5, 1/3 and 7/15 respectively. Sohan retires and his

share was taken up by Ram and Mohan in the ratio of 3:2. Find out the new ratio.

Solution:

:101’ a5 7

Qld Ratio (Ram, Mohan and Sohan) = G

Al —
Ll

Sohan's Profit Share =%

F.am and Mohan decided to take his share in the ratio of 3:2

i3 021

Share of Schan taken by Ram ={EXE- =T
;o2 14
Share of Schan taken by Mohan =TEXT - E

Mew profit share = Old profit share + share taken from Sohan
3 21 15+21 36

Fam's MNew Share = —+ ——=_""_"" =
15 75 75 75

Mew profit Ratiol Ram and Mohan) = 36:39 or 12:13

Question 3.

From the following particulars, calculate new profit-sharing ratio of the partners:

a. Shiv, Mohan and Hari were partners in a firm sharing profits in the ratio of 5:5:4. Mohan retired his share was divided
equally between Shiv and Hari.

b. P, Q and R were partners sharing profits in the ratio of 5:4:1. P retires from the firm.

Solution:
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a Old ratio (Shiv, Mdhan and Hari) = 5:5:4
Mchan's Profit share =1£

His share is divided between Shiv and Had equélly i.e in the ratic of 1:1
Share of Mohan takes by Shiv ) ® 1_=
14 2 28

.5 1 &

Share of Mohan takes by Hari = —x— = —

14 2 28

MNew profit share = Old profit share + Share taken from Mohan

Shiv's Mew Share = E + E = E = E

Hari's Mew Share = — + — =~~~ - =
14 28 28 22

Mew profit share { Shiv and Hari) = 15:13

b. Old Ratio(P,Qand R) =5:4:1
P's Profit Share = El
10

Since, no information is given as to how Q and R are acquiring P's profit share after his retirement, therefore the new profit sharing ratio between
Q and R is calculated just by crossing out the P's share. That is, the new ratio becomes 4 1
« Mew profit Ratio (Qand R ) =4:1

Question 4.

A, B and C were partners sharing profits in the ratio of 4:3:2. A retires, assuming B and C will share profit in the ratio of 2:1.
Determine the gaining ratio.

Solution:

Old Ratio (A B and C) =4:3:2
New Ratio (B and C)=2:1

. _ 2 3 _6-3_3
BSGE!IF‘I—B 5-"5 "5
. o1 2 3-2 1
CsGam—3 5=~ "5 -3

Gaining Ratio = 3:1

Question 5.

Kangli, Mangli and Sanvali are three partners sharing profits in the ratio of 4:3:2. Kangli retires. Assuming Mangli and Sanvali
will share profits in future in the ratio of 5:3, determine the gaining ratio.

Solution:

Old Ratio (Kangli, Mangli and Sanvali) =4:3:2

New Ratio (Mangli and Sanvali) = 5:3
Gaining Ratio = New Ratio - Old Ratio

o L _5_ 3_45-24_ 21
Mangli's Gain =5 5= 93 - 7%
" 3. 2_27-16_ 11
Sanvdli's Gain = 55 55 5%
Gaining Ratio = 21:11
Question 6.

X, Y and Z are partners sharing profits in the ratio of 1/2, 3/10, and 1/5. Calculate the gaining ratio of remaining partners
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when Y retires from the firm.
Solution:

Calaulation of Gaining Ratio

oo £
ICJIdFlenjo=l:E:1
2 10 5

_ 5:3:2

10

Mews Ratio after ¥'s refirement = 5:2
Gaining share = New Share - Qld share

X'sGain=E—i=E
7 10 7O
Z'SGain=E—£=£
7 10 70

Gaining Ratio = 156 or 5.2

Question 7.

a. W, X, Y and Z are partners sharing profit and losses in the ratio of 1/3, 1/6, 1/3 and 1/6 respectively Y retire and W, X and
Z decided to share the profit and losses equally in future .calculate gaining ratio

b. A, B and C are partners sharing profit and losses in the ratio of 4:3:2 C retires from the business. A is acquiring 4/9 of C’s
share and balance is acquired by B. Calculate the new profit-sharing ratio and gaining ratio.

Solution:

(a) Old Rato (W, X, ¥ and Z)= or 2:1:2:1

New Ratio (W, X and Z)= 1:1:1
Gaining Ratio = New Ratio - Old Ratio

Ll =
|
L\J-l -._..
ol =

W's Gain=2-2-2-2_¢
3 B 5

X's Gain=1—i=é=_1

3 6 & 5

7's Gain=_—l=é=l

5 & 5

~» Gaining Ratio=0:1:1

(b) Old Ratio (AR and C)=4:3:2
C's Profit Share =2/9
A acquires 4/9 of C's Share and remaining Share is acquired by B.

. 2 4 8
Share acquired by A—§ X3 =81
Share acquired by B= C's Share-Share acquired by A=§ - %

New profit share= Old Profit share +share acquired from C
A's New Share=f+ﬁ= 6+8_44
9 =21 21 81

B's NewShare=§+£= 2?+1O= 37
2 g1 g1 g1

+ Mew Profit Ratio (A and B)=44:37
Gaining Ratio= New Ratio-Old Ratio

A's Gain=22,3_34-36_ 8
21 9 21 21

B's Gain=£+§=ﬂ=£
21 9 g1 g1

» Gaining Ratio=8:10 or 4:5

Question 8.

_ 1o
81

T Sita ,Geeta and Meeta were partners in a firm sharing profit in the of 7:6:7.Geeta retired and her share was divided equally

between Sita and Meeta.
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Calculate the new profit-sharing ratio of Sita and Meeta.
Solution:

Old Ratio (Sita, Geeta and Meeta)=7:6:7
Geeta's Profit Share=6/20
Her share is divided between Sita and Meeta equally i.e in the ratio of 1:1

Share of Geeta taken by Sita=£ b 18
20 2 40
65 1 &
Share of Geeta taken by Meeta=—x = = —
20 2 40

MNew Profit Share = Old Profit Share + Share taken from Geeta

Sita's Mew Share:l i 6 _1l4-6_20

40 40 40

Mesta's Mew Share=l + E = w = %

. Mew Profit Ratio(Sita and Meeta)=20:20 or 1:1

Question 9.

R, S and M are partners sharing profit in the ratio of 2/5, 2/5 and 1/5.M decides to retire from the business and his share is
taken by R and S in the ratio of 1:2. Calculate the new profit-sharing ratio.

Solution:

Old ratio (R, S and M)= 2:2:1
M retires from the firm.

His Profit share =%
M’s share taken by R and Sin ratio of 1:2
Share taken by R: =1 b 11

5 3 15
Share taken by S:=E b 2_2

5 3 15

Mew Ratio= Old Ratio + Share acquired from M

R's Mew Share:%+i = E =1
5 15 15 15
2 B+2 8

. 2
R's MNew Share.§+ﬁ_?_ =
. Mew Profit (R and 5)=7:8

Question 10.

A, B, C and D were partners in a firm sharing profit in 5:3:2:2 ratio. B and C retired from the firm. B’s share was acquired by
D and C'’s share was acquired by A. Calculate new profit-sharing ratio of A and D.
Solution:

Old Ratio (&, B, C and D)=5:3:2:2

3
B's Profit Share=-—
s Pro are=r

C's Profit Share=-=
12

B'Share was acquired by D and C's Share was acquired by A,

. D's New Share=D's Qld Share + Share of B =3 + i = E
iz 12 12
, | 5 2 7
A's MNew Share=A's Old Share + Share of T =—+ — = —
iz 12 12

Mew Profit Ratio (& and D) = 715

Question 11.

A, B, and C were partners in a firm sharing profit in the ratio of 8:4:3. B retired and his share is taken up equally by A and C.
Find the new profit-sharing ratio.
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Solution:

Old Ratio (A, B and C)= 8:4:3
B retires from the firm.
B's Share taken by A and Cinratio of 1:1

Share taken by A= s % 1_2
15 2 15
Share taken by C= s % 1_2
15 2 15

A's Mew Share:ﬁ+£=E= 3

15 15 15 3

C's Mew Share:i+ 2 = i:l

15 15 15 3
o Mew Profit (4 and C)=2:1

Question 12.

A, B and C are partners in a firm sharing profit and losses in the ratio of 4:3:2. B decides to retire from the firm. Calculate
new profit-sharing ratio of A and C in the following circumstance:

a. If B gives his share to A and C in the original ratio of A and C.

b. If B gives his share to A and C in equal proportion.

c. If B gives his share to A and C in the ratio of 3:1.

d. If B gives his share to A only.

Solution:

Old Ratio (A, B and C )=4:3:2
B retires from the firm.

His Profit Share=§

(a) B gives his share to A and C in their original ratio.

origninal Share { A and C)=4:2

Share taken by A=§ ® 4_12
9 6 54
Share taken by ;ﬂ\=§ x 2.5
9 6 54

Mew Ratio= Old Ratio + Share acquired from B

A's MNew Share=iL + E = w = E

C's MNew Share=g + E = ﬁ = E

~ MNew Profit Ratio (A and C)=36:18or 2:1

(b) B givens his Share to A and Cin equal proportion,

Share taken by ;&:E x 1_3
5 2 18
Share taken by C=§ b 13
S 2 18

MNew Ratio= Old Ratico + Share acquired from B

A's MNew Share=i+i = w = E

'z MNew Share=£ + 3 = ﬁ = i

9 18 18 18
o MNew Profit Ratio (A and C)=11:7
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{c) B givens his Share to & and Cin the Ratio 311

Share taken by A—3 2_2
9 4 36
Share taken by C== 3 1_3
9 4 36

Mew Ratio= Old Ratio + Share acguired from B
A's NewShare—i+i_M=§

9 36 36 26
C's Mew Share=g + S _&sx3_ U

o Mew Profit Ratio (A and C)=25:11

{(d) B givens his Share o A only.
A's Mew Share = &'s Qld Share+ Share of B =

kol-ll

kolw
|

o=

C's Mew Share=§

. - Mew Profit Ratio (A and C)=7.2
Question 13.

A, B and C are partners sharing profit in the ratio of 5:3:2 C retires and his share is entirely taken by A. calculate new profit-
sharing ratio of A and B.

Solution:
Old Ratio (A, B and C)=5:3:2
C refires from the firm
His Profit Share s
10
C's Share taken by Ain entriety
Mew Ratio= Cld Ratio + Share acquired from C
Als Mew Share:i + 2.2
10 10 10
B's MNew Share:i +0= 3
15 10
o Mew Profit (A and B)=7.3

Question 14.

A, B and C are partners in the firm sharing profit in the ratio of 5:3:2 respectively B retire and his share is taken up by A and
C in the ratio of 2:1. Then immediately ,D is admitted for 25% share of profit, half of which was gifted by A and remaining
share was taken by D equally from A and C. Calculate new profit-sharing ratio after D’'s admission.

Solution:

Old Profit Sharing Ratio amongst Partner’s (A, Band C )=5:3: 2

=k
B retires and his share was taken by A and Cinratio of 2:1
Gaining Ratioof Aand Cis 2:1

A's dd Share =
10

Share acquired from ES—i 2.5
1073 30
MNew Share of & —i E 21
10 30 30
C's old Share 2
10
1 3
Share acquired from B=
10 3 30
MNew Share of C = 3 3
10 30 30

New ratio between Aand Cis 21:9or 7:3
After this D is admitted for 25% Share
Half of this 25% was gifted by A and remaining half was provided by A and C equally.

It means 75% (50%+1/2 of remaining 50%) of 25%(given to D) was actually given by A and rest 25% was given by C.

. 1 3 3
Share acquired D from .ﬂ\—z X118
Share acquired from C=1><l 1
44 16
3

A's New Share _ 7 i 112-30 _ &2

10 16 160 160
C's Mew Share _3_ 1 _48-10_ 38
10 16 160 160
D's Share=l=£
4 160

MNew Ratio = 41:19:20






